189 N,N-

E+n

n

x 10

-2-

E+3

x 1000

28

(kg/ )

(kg/

)

6.0E+2

600.0

600.0

2.9E+3

2,913.1

29131

Ol |N|ojO|d|WIN]|F

1.2E+3

1,200.0

1,200.0

=
o

[E
[EN

1.5E+3

1,500.0

1,500.0

=
N

=
w

[EN
N

=
()]

=
(o)}

[N
~

=
o0}

=
(e}

N
o

N
=

N
N

N
w

4,0E+2

402.0

402.0

N
i

24E+3

2,420.0

2,420.0

N
(&)

1.0E+3

1,000.0

1,000.0

N
(o)}

N
~

N
o0}

6.0E+2

600.0

600.0

N
(e}

w
o

w
g

w
N

w
w

w
S

w
(83

2.0E+3

1,970.0

1,970.0

w
[o)}

w
-~

w
[ee)

w
o

N
o

3.1E+3

3,060.0

3,060.0

N
Ui

N
N

N
w

IS
i

N
[S]

1.1E+2

110.0

110.0

i
[op]

N
hy]

1.6E+4

15,775.1

15,775.1

[EN
o




